Foundations of Math 9
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Graphing and Equation Form Practice

Graph the following equations
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5. y=%x—2 56. y=-5x+4+8 N
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9. 2x+5y=-10
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110, —3x + 4y = —24

10
I
|
|
5 |
|
15572
-10 3 0 8 10

B
|
|
|
|
|

’-3(0)-&Lf7 24 — L}y:"l‘f y:-é

L o3 M) 2TZH D> =3z -2 x =9

-3-8) 4y - H > 24 +Hy = - 24

"'\/ = 48

A0 L Tl | 5--*..:__: _6 _q
O+:fy—'j y"'|
x 1} =-F

=-3
:)'*':}y—’q' |
7)1 = -4

Adrian Herlaar, School District 61 y= -

.19

.:;/ 0 5 10
" .

www.mrherlaar.weebly.com



Foundations of Math 9

OO W ¢

ET R T %\ﬂ 10

! |
| LiTiE |
\ 1 _ P
" | A | .
\a _ o T . |
I". | -10 E "I‘ [ e ]
Y -3c-dye-12 o -2y =g
-3(0\-l{7=~\1 S -Hy=-12 y='3 '3(0)'272—6 - -Z)«"-’é y-‘-’3
“Ju~HOY==~12L 2> —-3x=-\2 Y:"( 3)('2@31—6 3(2,)-2),;*6
5 e N -
'3(-'—(\-‘1): =-(2 3 \2-Yy=-12 Y’é g 3x=-6 y = .
~|-'y:'2q ' '2)’:'" y
L —x—y=_,0 éy(§+y=2 iL o q0 |
' x y ,/ x

-10

-0

- (—x——y‘—’5'> - xey =%

Adrian Herlaar, School District 61

\

\ _f.is';. S
B - <y

O*By"6

w +3(0) >6

o

5
|
|
|

Y=2 —6%»3—‘6

x=6 3~z
y=H

www.mrherlaar.weebly.com



Foundations of Math 9
weed\ 7 = \rnx-t‘)

Convert the following from Standard Form to Slope-Intercept Form
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EXTRA WORK SPACE
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